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Y %6 | 24,220,714  100.0  105.6 25,355,286  100.0  104.7 24,405,111  100.0 96.3 34,855,790  100.0  142.8 28,712,813  100.0 82.4
i = 2 259,270 1.0 100.0 258,650 1.1 99.8 245,290 1.0 94.8 234,514 0.7 95.6 254,827 0.9  108.7

Oy % # 3,028,201 11.9 97.8 3,408,666 14.0  112.6 3,134,487 12.8 92.0 11,657,594 33.4  371.9 4,091,746 14.3 35.1
R 4 # 9,470,707 37.4  101.6 9,484,808 38.9  100.1 9,795,472 40.1  103.3 10,207,290 29.3  104.2 12,244,118 42.6 120.0
fh 4 o 1,969,835 7.8  101.5 1,985,488 8.1  100.8 2,218,410 9.1  111.7 2,650,759 7.6 119.5 3,013,262 10.5  113.7
55 @ 2 90,168 0.4  101.9 88,112 0.4 97.7 106,134 0.4 120.5 113,185 0.3  106.6 123,188 0.4 108.8
B ok E ¥ % 119,076 0.5  106.2 161,199 0.7 135.4 142,636 0.6 88.5 118,262 0.3 82.9 116,566 0.4 98.6

[ T # 257,082 1.0 100.3 274,451 1.1 106.8 435,667 1.8 158.7 530,524 1.5 121.8 382,744 1.3 72.1

+ PN o 3,449,121 13.6  121.9 3,069,993 12.6 89.0 2,700,101 11.1 88.0 2,421,188 6.9 89.7 2,447,612 8.5  101.1
1H Bi 2 887,719 3.5  107.4 782,201 3.2 88.1 813,389 3.3 104.0 1,396,638 4.0 1717 945,775 3.3 67.7
# 5 o 2,849,839 11.2 1154 4,106,215 16.8  144.1 3,089,626 12.7 75.2 3,736,435 10.7 1209 3,229,360 11.2 86.4
$ 0%F B B & - - - - - - - - - 565 0.0 - 68 0.0 -
N 1 # 1,839,696 7.3 105.2 1,735,503 7.1 94.3 1,723,899 7.1 99.3 1,788,836 5.1  103.8 1,863,547 6.5  104.2
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